
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

5th Month, 1stWeek, 5th Day Exercise:  3.3 Q # (10,11,12,13,14,15,16,17)

Q.1. Answer the following questions.   
(i) The base of pyramid is a right angled triangle of sides 3cm, 4cm and

5cm. If height of pyramid is 7cm, find volume of the pyramid. (3)

 7cm  5cm  4cm,3cm 
(ii) What is the volume of a triangular pyramid whose base area is 92 inch2 

and height is 4 inches? (3)

 4  42 
(iii) Find the volume of a hexagon based pyramid with base area 23cm2 and

height 8cm. (4)

 8  23 
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